FIRST TERM EXAMINATION - 2023
SUMMATIVE ASSESSMENT - MATHEMATICS
CLASS -6 TIME :2%Hrs
MARKS : 60

SET-A
Section - A

I.  Choose the best Answer 5X1=5
b) 0

ayn-6=28

a) 6

d) reflex angle

c)Scaling

ok

I1. Fill in the blank 5X1=5
6. 1
7. 17
8. 3:2
9. ray
10. 1067

I1l. Say TRUE or FALSE 5X1=5
11. False
12. False
13. True
14 True
15. True

IVV. Match the following 5X1=5
16.0
17.5
18.1
19.2
20. 4

Section - B
V. Answer Any 10 Questions 10 X2=10
21. 479, 497, 794, 749, 947, 974
22. 31
23. 8100 + 4200 = 12300
24.g-1 = 299 g+l = 301
25.x-6 =10
26.2:3
27.4:6=6:9=8:12=10:15



28.3, AB ; BC ; AC
29. Vertex-D  Sides - ED :DF
30. Railway Track, Window rods, e ¢,

Number  Tally Marks Frequency

1 | 1

3 Il 2

4 1 2

5 11 3

6 Il 2
31. 10
32. 1. Primary Data

1 ~Shovt

o

. 2, ¢ ket
33 ,’S,I\}r‘f ._';'__"."J-.r’f'

34. Total Number of Triangles = 5

V1. Answer Any five questions
35. 1,26,345 — Indian System
126,345 - International System

2. Secondary Data
o Slayt

A

| st 25kt

Section - C

36. Remaining Amount = 2,15,750.00

37. i) Commutative Property

i) Addi ive Identify

Identity
38 i) u+2 i) u-2
39.1) 4S ii) 3S
40.x=2
41.
Parallel Lines: ABIICD: ADIEG : ADIBC : EGIBC
Intersecting lines i) AC,BD i) AC, GE
42.
i) 0° = Zero angle
i) 89 = Acute angle
iii) 245° = Reflexangle
iv) 90° = Right angle
v) 180° = Straight angle
vi) 135° = Obtuse angle
Section - D

VII. Answer the following

= "-:‘L-l rE

6 Ways to wear

5X3=15

iii) Multiplicative

1IX5=5

43. i) Construct a line segment using ruler and compass for AB = 7.5 cm

(Or)



ii) Draw and label of angle /NAS = 90°
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SET-A
Sifley - =i

| &flwneor eflemL_emwd CoHiHOSH S 615 5X1=5
1. &)0

S)n-6=8

1) 6

rF) Sledreuemer @aimeord

IS O

a s W N

. Gasmgl L 8L s Hiroys 5X1=5
6. 1
7. 17
8 3:2
9. &5l
10. 1067

Il &flwn? Heumn? ercord samis. 5X1=5
11. seumy
12. s6um)
13. &l
14. &ifl
15. &fl

V. @urapd s 5X1=5
16.0
17.5
18.1
19.2
204



Gifley - 2

V. eremauBuignib 10 alleomés s emd @ allemLwoeifl 10X 2=10
21 479,497,794,749,947,974
22. 31
23. 8100 + 4200 = 12300
24. g-—1 = 299 ; g+l = 301
25. Xx—6 =10
26 2:3
27. 4:6=6:9=8:12=10:15
28, 3, AB; BC AC
29. 2 §8l -D udshser - ED DF
30. Sruileb &600TL GUMENTAIG 6T, 2R60T6oTeL &HIDIIGET, |,
6T euuT G!I"jcglg‘@é’ 158D 6 611 6w

1 [ 1

3 I 2

4 I 2

5 1] 3

6 I 2
3L | 0
32. 1. W&o Hlemevd Hreyser, 2 SuesorL_mb Hlemevd Hr6)&eir
33

;../gﬂﬂ\/{? LT L 7 - bnoy Al

-
N\ 4
\'\‘ {
5 [

N v |
. ' Jrenl | glom g Grow 3
FranL-| Gtoml L grev-3

6 womms&eifley el Swepibd

34. @uwnés (P&Gsnemnd = 5
Gfle - &
VI. etemauBuignib 5 afleomd s 6 aflenL weil 5X3=15
35. 126,345 —-@pSw (poeom
126,345 -ucdreotm’_(h (Ppoemm
36. Bsb CHemeutiu@pb @smems = 2,15750.00
37. ) uflmbH o’ vedory i) a1”_L_6b &loeofl iil) @uHE &L Foeofl

38. ) u+2 i) u-2



30. i) 4s i) 3S

40. X=2

41,
Sovawid CHRaer . ABICD: ADIEG . ADIBC . EGIBC
@eu’_(Hb Csnh&ser .i) AC,BD i) AC, GE

42.
) O° = y,enedlws Gameord
i) 89° = @& muh Gsmevord
i) 245° = Gledreuemen @ameoord
iv) 90° = @ &h@ameorid
v) 180° = Gmiid Bsmesorid
v) 135° = eSlifl Gsmevond

Sfley -
Vil. a@saoyid 1 afleomailixg w1 (Hib allemLwefl IX5=5

43. i) SereyBasncy HMID Heurmusemsl LwSTUBRSS AB = 7.5 @F.B
Siorajorer Cam_(Hs Gicoor(h OIS
(St6bovgy)
i) /NAS = 90° — @B&neworbd euemIHE @UWITEH 5.



